EARAROBREBRT —5 XN—ZXBISH—F

2024578278 (+) 6mE13H

U C 1 C2BE US5F—K

‘(fﬁ} W ‘I%EH?’JFE‘?] ~ | & 10000 =

[AE%] 1% :900,000H" ~ 27%&:315,000MW  37%&:180,000 § .~ 43 :135,000H . 57&:90,000 M

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
1 5 | ZU=ILY V=)L i 5 tzﬁ%g%gréu 1:46.6 4-4-4-1 | 40.7| - 9 | 457 égg%g (=5
: (=) _ SHE
RiRLTHY B:RU—LRSYYa Q) =8V Ir—L
> 4 8 | ZHEHH 1:46.9 6-6-6-4 | 40.8| — 2 486 | LEE=D (FH0)
? VAR PRV 56.0 1 1/2) 1 B=—ER
LYVRUIURTIR 8:7 RIAPYZN B | srmmms
S = tv 6 | KHFRE 1:46.9 8-7-7-6 | 40.3| - 4 453 | MEIEX (FH)
31811 YFI4T3R 56.0 F92) IERA
RYHIRIA TSR B FYUTF—L ’ O | mitmgis
S vy 4 | BPEE 1:47.3 5-5-3-2 | 41.6| — 7 | 45 | #DIBE EH)
4178 ANORU—=Y 56.0 @ ) |PIAR THURK ZFATI (
R:5=Z B:AFI7Z—-5 mEge
50709 SvvavL—i o6 ;5“6“85% 1:48.0 1-11-9-7 [40.9 | — 1| 489 fg;ﬁ% (50
= . ©)
RTPRIVIA B TANN—TT 9T ®) | Famig
S50 ~, s 5 | MERE 1:48.8 2-3-2-3 | 43.2| — 3 475 | BIES (S50
6 6| LAYYY—=UVT 56.0 @ RS
] RIAYVENY BIAYUAY YT )| S
71111 UYFY—HRZ i 4 E’f?}ﬁ?ﬁﬁ 1:619).4 3-2-1-5 | 43.9| - 6 48 §§E¥ (=40
. 3
RFVVPY/EEE B:5YTUYIO-R )| Femins
=0] g o6 | EEE 1:50.0 10-10-10-10| 42.6 | — 10 | 42 |SHERE (&0
s N 4 7U /7_ o {54.0 5 (-3 |FOEEEARE
RAWTT—II B:7ITUT J—HUTr—L
N s 7 | FIERER 1:50.2 9-9-8-8 |43.3| — | 11 | 455 |HPEZ (&H)
9 &N 3 le\.U\_X“ng\“ L ) 450.0 ) o | (B)_JPNEH
RiTSVIIALR B:F—LIALRA it
=\ s 5 | EFHET 1:50.5 1-1-5-9 [44.7 | — 5 471 | EEEE (FH)
10/5|5|f—/b7v—0O 54.0 a1/ | @ I PN
RFAUAYRA NUAw b B:DA)LRY—R Dl xm ism
N ~ s o5 | RIZL 1:53.4 7-8-11-11 | 46.0 | — 8 | 446 |BIE— FH)
njgjo| FU¥XIOY %55.0 (544 © | EHE—
RibwYI—LR B:FIU—RIAI BRERS
@ 1—F—&RIEL
13—7— 5,6,1,2,8,7,10,11,3,4,9
20—F— 5,1,6,2,8,7,11,10,3,4,9
33— — 1.6,8,2,5,7,11,3,9,4,10
43—F— 2,8,6,7,1,11,9,3,5,4,10
o ILRE
BB 2 2,950 JA R 2-7 1,780 % 3E 2-6 4,750 3EE 2-7-11 14,030M4
B B 2 510 2-11 2,740 5 E 2-7 10,8304 3EH 2-7-11 174,370M
7 180 7-11 710 Ba 2-7 20,760
1 170/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




